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(c) BREt— 4-bit W (code)sFm 10 e 0.1.2, ... 9 F BT - (LEEALIT
FHE RN T 2B REE—E bit (2 TOHHSME 9 B 0
TEHESRREST - ¢ 52> -
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(a) BHEARCHMFF (Truth Table) s ¢ 2,%)
(b) # f Ll sum-of -minterms B9 AT - ¢ 370
(c) # [ LA product-of-maxterms I /iss7 « ¢ 2%
(d) 1% £ bl B2 sum-of-product ¥7jziges - ¢ @ %)
(e) # f LU B product-of-sun FIFFEFS » ¢ ¢2)
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el 0 - NE 30 FLANERIE R
(a) Time Sharing and Batch Process &'y P - ¥
(b) Memory Device: RAM and ROM ¢ ¢%) o
(c) Fixed-Point and Floating Point Representation ¢ %)
(d) The concepts of call-by-value and call-by-address ¢ “%)
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ai B RTLU TR EE S wacros B statements $5— Recurrsive procedure S R
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Macros: Equaltx.v) @ i{f (x=y) return 1 else return {
Plusone{x) : relurn(x+i)
Minus(x) v return{x—i)

Statements: if ... then ... else

return(...)
Recurrsive Program to Write

HinusAB(A,B) : (GRAI: return (A-B) 1323 OB
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T tree WIEHYAN Pigure 5 [ - fi—(M Node fP—msdie  (P)
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(a) BL C 3 PASCAL $2HUH,— Tree 32 Duta Structure

(Struct or Record) (¢ X) @ @

(b) E-— Tterative Procedure HIRFRFAMERE ZFRTR - ( S

(c) F3— Recurrsive Procedure HFATAaINRR A B (%) P Parent
(d) THEFEZITRT » EEHL LM Nodes FRERRT) » LC: Left Child
IR B - ¢ 5% RC: Right Child
: Figure 5
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(a) L 30 SRR Queve Fr Stack 7325 ¢ $%)
(b) BELA T2 Command Sequence 47UEHE Queue B Stack (ML -
push(1) —> push(2} -> push(3} — pop()  -» push(4) .
=> pop() > pop() > push(5) -> pop()  -> pop() C 54D
(c)EF A B— one-dimensional integer array, Ll € o5 PASCAL EIlE{E Stack it
push L2 pop Y procedurcs - ¢/a %)



